
SAP ABAP table TCM_LC_PH_TRANS {CM: Link between the phases of a life cycle}

TCM_LC_PH_TRANS

CLIENT [CLNT (3)]

LIFE_CYCLE [CHAR (5)]

PHASE_FROM [CHAR (5)]

PHASE_TO [CHAR (5)]

T000

MANDT [CLNT (3)] TCM_LC_PH_TRANS-CLIENT = T000-MANDT 
0..N

1

TCM_LC_PHASE

CLIENT [CLNT (3)]

LC_PHASE [CHAR (5)]

 TCM_LC_PH_TRANS-PHASE_FROM = TCM_LC_PHASE-LC_PHASE 
0..N1  TCM_LC_PH_TRANS-PHASE_TO = TCM_LC_PHASE-LC_PHASE 
0..N1

TCM_LIFECYCLE

CLIENT [CLNT (3)]

LIFE_CYCLE [CHAR (5)]

 TCM_LC_PH_TRANS-LIFE_CYCLE = TCM_LIFECYCLE-LIFE_CYCLE 

0..N

1


